Unit17  Many food stands are lined up.

1. Transitive and infransitive verbs
Japanese verbs consist of transitive and intransitive verbs. The transitive verbs require an object with “o” ,

but the infransitive verbs do not.

Example1) Z‘%ﬁt.é‘&i’s“o (Transitive) (I have a meal.)

Example2) Vﬁ—%%%iﬂ'o (Transitive) (I write a paper.)

Example3) 7°—/b’<“§ii?i’9‘“o (Intransitive) (I swim in the pool.)

Example4) %\f%}% 7%[:%3%;’9“0 (Intransitive) (I get up at 7 every morning.)

The tfransitive verb focuses on who or what performs a given action while the infransitive verb focuses on

what change is brought from the action, not on who does.

Example5) *;Ffilil\“Y%f%HiLto (Transitive) (I opened the door.)
Example6) F‘Tﬁ“‘ﬁ% =ZL7, (ntransitive)  (The door opened.)

Some infransitive verbs express an action which occurs under the natural influence.
B
Example7) (The wind blew.) -, WA ZTHE L EL/, (Ah, the apples have dropped.)

2. Transitive and intransitive verbs in pairs

In Japanese, there are pairs of fransit and intransitive verbs, pure fransitive and pure infransitive, and a very
few, but there are also verbs that have both transitive and infransitive meanings.

Here is the list of pairs of fransitive and infransitive verbs.
(1) -aru (intransitive) / -eru (fransitive)
12U % hajmaru — (202  hajimeru

7?275\“%&% (The class begins.) / 7?X§2§&>% ((The teacher) begins the class.)
HH% owaru — BZ% oeru

7?7&7“‘%%%% (The class ends.) / 7?1%5’%‘Z% (The teacher) ends the class.
LE% shimaru — L&®% shimeru

k7 #E1E5 (The door shuts.) / K7%F% (1) shut the door.)
Y*% tomaru — Y% tomeru

(gﬁ\“j:i% (The car stops.) / (fﬁii’j:&)% (1) stop the car.)
L2 5 mitsukaru — A2+ % mitsukeru

f)‘?ﬁ“%ﬁﬂ)‘% (The key is found.) / ﬁ\ﬁ?‘iéﬁﬁé (1) find the key.)
N5 kakaru — T4 kakeru

— 223 —



%é%f]\“f]\ﬁ\% (The telephone rings.) / %g 15 (1) make a telephone call.)
Ho%4 atsumaru — HoH5  atsumeru

%i)“%i% (People gather.) / U/\Z%E%&)é ((We) gather people together.)

=%% kimaru — =% kimeru

T\

%%ﬁ“i;%i% (The plan is decided.) / ’Ti ii’;‘;&&’)% ((1) decide the plan.)

(2) -u (intransitive) / -eru (transitive)

< aku — BHIF% dkeru

l\“/”ﬁ“‘l%( (The door opens.) / F‘/”‘é?ﬁ%ﬁ% ((1) open the door.)
¢ tsuku — IF% tsukeru

%%ﬁ‘0< (The light goes on.) / %%%OH% ((1) turn on the light.)
¥ ¥’ todoku — XX1F% todokeru

-2

?%%5#“%( (The baggage arrives.) / %%@%%H% ((D) bring the baggage.)

(3) -u (infransitive) / -asu (transitive)

H{ waku — HT wakasu

Hﬁ%ﬁ“%( (The water boils.) / Hﬁ%%%ﬁ‘?" (() boil the water.)

< kawaku — NbhM T kawakasu

gfiﬁ“%( (The clothe dries.) / Hﬁ%%’zﬁ"s“ ((1) dry the cloth.)

~% heru — 5 herasu

9\&%7“?)5’@% (People decrease.) / U/\t’a?i)giﬁ)?“ ((The company) decreases people.)
92¢ ugoku — 92/ ¥ ugokasu

%ﬁiﬁ\“g< (The car moves.) / %ﬁii%};ﬁ\ﬁ ((1) move the car.)

(4) -ru Cintransitive) / -su (fransitive)

"2 % kaeru — 2 Y kaesu
‘%ﬁ“g% (The book returns.) / ﬂzﬁig? ( (1) return the book.)
'H 5 naoru — H T naosu

I

Ez%%jrﬁ\g% (The clock is repaired.) / Eéf%%’%? Lﬁf’s“ ((1) repair the clock.)
(5) -eru (infransitive) / -asu (fransitive)

T% deru — 79 dasu
%-575\“&1% (The cat comes out.) / gﬂé’&éﬁ@' ((1) let the cat out.)

— 224 —



(6) -eru (infransitive) / -yasu (infransitive)

N5 hieru — T hiyasu
“/“1*275\“1‘2‘i% (The juice gets chill.) / :};—Xéi’i"@ﬁ" (D) chill the juice.)
525 fueru — X7 fuyasu

b 3 r N
UAﬁ“i% Z.% (The people increase.) / i&éi% >3 ((The company) increases the people.)

(7) -eru (intransitive) / -esu (fransitive)
X272 Kkieru — 79 kesu

Th E Th

%ﬁﬁ\/%z% (The light goes off.) / %%%}%’9‘“ (D) turn off the light.)

(8) -iru (infransitive) / -osu (fransitive)

H=% okiru — HZF okosu

%‘Z‘%ﬁ“%?% (The child wakes up.) / %K%%%:’s“ ((1) wake up the child.)
HH5 ochiru — BY¥T ofosu

N"\/ﬁ\"%‘%% (The pen drops.) / ’\“/é?%éi’s" ((1) drop the pen.)

(9) -reru (infransitive) / -su (fransitive)
=M% tooreru — 7=H T taosu
KHBINZ (The tree folls.) / KEBT (1) fall the Tree.)
ZbhNs kowareru — ZH T kowasu
E%%jr\ﬁ\“:%%t% (The clock brecks.) / Eéfgjréi#o@’ ((1) break the clock.)
LI % yogoreru — LITF yogosu
Efiﬁ\;}:ﬂé (The clothe gets dirty.) / Hﬁié%’s" ((1) get the clothe dirty.)

(10) -eru (intransitive) / -u (fransitive)
=M% kireru — =% kiru
%&ﬁ‘”ﬂbﬂé (The paper is cut.) / %é%’&?% ((1) cut the paper.)

¥ 5 wareru — % waru
ﬁﬁ%}‘é’]ﬂé (The plate breaks.) / iﬁz&é‘]% ((1) break the plate.)
115 yakeru — X< yaku

/*"/ﬁ“kj*“%ﬁ% (The bread is baked.) / /\“7%*%( ((1) bake the bread.)

(11) Other
|24 hairu — W% ireru

[N nI

g‘&gﬁ“)\% (The cat gets in.) / 5%%‘%)“\2!4% (D) let the cat in.)
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3. V1%

The expression “VC{\1%" for an infransitive verb expresses the continued state of a finished action.
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Example1) A :
B:
Example2) A :
B:

VT + W5

Nz XNot s FiimBATCNS B BOCOS H2D = HA TS
%\ VCF R, (s cold, isn't it?)

H-. %f]\“%\\fk ‘EF9 ., (Oh, the window is open.)

gﬁé@?%(ibﬂgb‘\ VO 4, (It's warm in the room.)

7 AN O CNET NG, (The heater is on.)
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